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28400 Verb Stem + GhdT ‘to be able, can’;

Material, page 1

Verb Stem + JH AT ‘to finish, already’ Chart: A Reference Material

Both ¥hT and HhT are Intransitive Verbs: Even if the main verb is a

Transitive Verb, the subject will not take ¥ in the perfective tenses

as the house.

Sentence with Intransitive Translation to English Name of
Verb Stem + @HAT Tense
‘can run’, ‘to be able to run’
Ch. 22, p. 165
EH 9T % IS Thd 2l We /| can run as far as the present
’ house. habitual
Ch9,p82
H 9L T IS Tohd I We /| used to be able to run as past habitual
far as the house. Ch17,p 138
present
progressive
Ch 12, p 105
past
progressive
Ch 18, p 142
2H T T IS TR We / | will be able to run as far as | future
the house. Ch21,p 157
ZH 9 I IS T We /| could run as far as the perfect (simple
house. past)
Ch 23, p 170
EH I T IS T gl We /| could have run as far as present perfect
the house. Ch 25, p 185
gH 9 d& aIS T A We / | had been able to run as far | past perfect

Ch 26, p 190
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Sentence with Transitive Verb Translation to English Name of
Stem + HRAT Tense
‘can eat’, ‘to be able to eat’
Ch. 22, p. 165

g AT GT Tl T 2| She can eat fire. present
habitual
Ch9,p82

Ig AT @7 TEdT o7 She used to be able to eat fire. past habitual
Ch17,p 138
present
progressive
Ch 12, p 105
past
progressive
Ch 18, p 142

T AT T FehT| She will be able to eat fire. future
Ch21,p 157

I ANT @7 creal She was able to eat fire. perfect (simple
past)
Ch23,p 170

Ig AT @7 e Cal %l She could have eaten fire. present perfect
Ch 25, p 185

a8 ANT @T ThT She had been able to eat fire. past perfect

Ch 26, 190
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Sentence with Intransitive
Verb Stem + I&HAT

Ch. 39, p 296

Translation to English

‘to finish Ving’ ‘already’

Name of
Tense

present
habitual
Ch9,p82

past habitual
Ch17,p 138

present
progressive
Ch12,p 105

past
progressive
Ch 18, p 142

AT &7 T = el g

kol

By nine o’clock the children will
finish arriving (will already have
arrived) at school.

future
Ch21,p 157

AT &S T T ThA TZH TH|

By nine o’clock the children
already arrived / finished arriving
at school.

perfect (simple
past)
Ch23,p 170

AT & T = el T8 T+

2l

By nine o’clock the children have
already arrived at school.

present perfect
Ch 25,p 185

AT &7 T = el TgH T+

|

By nine o’clock the children had
already arrived at school.

past perfect
Ch 26, p 190
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Sentence with Transitive Verb Translation to English Name of
Stem + FH1 Tense
‘to finish Ving’ ‘already’
Ch. 39, p. 296
= a9 T 29 99 {gar head By six o’clock we finish watching | present
. all the Hindi films. habitual
& I § Ch9, p 82

= a9 I 29 99 fgal 'hard | By six o’clock we used to past habitual
TG T | finish watching all the Hindi | € 17.p 138
films.
present
progressive
Ch12,p 105
past
progressive
Ch 18, p 142
3 T 7F 2H 99 {27 fFers | By six o'clock we will finish future
watching all the Hindi films. Ch21,p157

By six o’clock we already finished
watching all the Hindi films.

perfect (simple
past)
Ch23,p 170

20 a9 gt fer <= kT gl | We have already finished present perfect
watching all the Hindi films. Ch 25,p 185
= a9 I g9 99 fgal e | We had already finished watching | past perfect

all the Hindi films by six o’clock.

Ch 26, p 190




